INSTRUCTION
MANUAL

Pressure Sensor Head
DPH-100Series

MJE-DPH100 No.0097-23V

Panasonic

Thank you very much for purchasing Panasonic products.
Please read this Instruction Manual carefully and thor-
oughly for the correct and optimum use of this product.
Kindly keep this manual in a convenient place for
quick reference.

Kl OUTLINE

e This product is a pressure sensor head which can
be connected to the pressure controller DPC-100
series. It can also be used independently.

H PIPING

e Use a hexagonal wrench to

install this product. For the
tightening torque, refer to the
following diagram.
If excessive tightening torque is
applied, the pressure port of the
pressure sensor head or the M5 male screw of the
commercial coupling will get damaged. In case of
R male screw type, wrap sealing tape around
the coupler when connecting to prevent leaks.

Hexagonal
wrench

Pressure port Hexg)gocl)F ;Ii(\ilgrrsnch Tightening torque
R’ male screw 5mm 9.8N-m or less
M3 male screw 3mm 0.8N-m or less
M5 male screw 1.5N-m or less

E11/0 CIRCUIT DIAGRAM (FOR INDEPEN-
DENT USE OF PRESSURE SENSOR HEAD)

Terminal No. Color code

(Brown) +V

(White) No connection
(Note 1)
*_L_ 121024V DC

(Black) Analogue output

Main circuit

1%2 | (Note 2) +10%
|, —»
x
(Blue) OV

Internal circuit<—°—"Users' circuit

Notes: 1) The white wire (Terminal No. 4) is the signal wire for
the pressure controller DPC-100 series. In case the
pressure sensor head is used independently, insulate
the white wire and keep it open.

2) When the pressure sensor head is used independent-
ly, devices connected to the analogue output must
have an input impedance set at 50kQ or more.

/\ WARNING

personnel protection.

e Never use this product as a sensing device for

o In case of using sensing devices for personnel protec-
tion, use products which meet laws and standards,
such as OSHA, ANSI or IEC etc., for personnel pro-
tection applicable in each region or country.

1 WIRE CONNECTION

e When using this product with the pressure control-
ler DPC-100 series, use the attached connector.
e Part description of connector (accessory)

Release lever

uoog

Wire inlet

<Terminal arrangement>

Terminal No. | Color code | Terminal name
@ 1 Brown +V
2 Black Analogue output
12324 3 Blue oV
4 White Model discrimination

e Applicable wire
+ 0.11t0 0.5mm?2 (AWG 27 to 20)

However, the diameter of the wire sheath should be
21.0to 1.15mm.

| Wire connecting procedure |

3. Slightly pull the wire to

ensure that the wire is not Wire
loose.

)
Slightly pull the wire

Note: Do not reuse the connector which has been hooked-up once,

as its performance cannot be guaranteed.

Please purchase the optional connector CN-EP2 (5 pcs./set)
or the recommended product.

<Recommended connector>

e-CON: 1473562-4 [Tyco Electronics AMP K.K.]

E INDEPENDENT USE OF PRES-

SURE SENSOR HEAD

e When the pressure sensor head is used indepen-

dently, prepare the cable end with a stripper, etc.

e Make sure to insulate the white wire (Terminal No.

4), and keep it open.

e Take care of the impedance of the connected device.

Further, in case of cable extension, note that a voltage
drop will occur depending on the cable resistance.

@ SPECIFICATIONS
<Model No.>
DPH-10-21-[EB1-[4]

BB FE

.. 1: Compound pressure type, 2: Positive pressure type, 3: Vacuum pressure type
.. None: R + M5 female screw, M3: M3 male screw, M5: M5 male screw
.. None: Normal cable, R: Flexible cable

.. None: 2m cable length, C5: 5m cable length

Iltem pressure type | pressure type | pressure type

Type | Compound | Positive Vacuum

CAUTIONS

This product is designed for use with air / non-cor-
rosive gas. It cannot be used for liquid or corrosive
and inflammable gases.

e Do not strip the wire sheath.
e Connect correctly after confirming the terminal ar-

rangement of the device to which it is connected.

. Process the cable as the figure below.

20mm or more »‘ ’«

Wire%

Not good

. Insert the wires into the wire inlets of the connector

till the wire tips touch the hole ends.

Insert the wire till it stops

. Hook-up the connector with pliers, etc.

Make sure to hook-up by holding the pliers parallel to
the connector from the
direction shown in the
figure right.

Take care not to dam-
age the wires with the
pliers during hook-up.

Take care that the
wires are not pulled
out during hook-up.

Pliers

Type of pressure

Gauge pressure

Rated pressure range

-100to +100kPa | 0 to +1MPa | 0 to -101kPa

Pressure withstandability

500kPa 1.5MPa 500kPa

Applicable fluid

Air / Non-corrosive gas

Supply voltage

12 to 24V DC +10% Ripple P-P 10% or less

Current consumption

15mA or less

Analogue output

Output voltage: 1 to 5V (at rated pressure range)
Output impedance: Approx. 1kQ

Zero point Within 3V £3% F.8. | Within 1V £2.5% F.S.
Span Within 4V £3.5%F.S.
Linearity Within £0.5%F.S.
Overvoltage |
category
Ambient 0 to +50°C (No dew condensation)
temperature Storage: -10 to +60°C
Ambient humidity | 35 to 85% RH, Storage: 35 to 85% RH
Pollution degree 2
Temperat_urg Within +2% F.S. (at +25°C reference)
characteristics
Enclosure: PBT
Material Pressure port: Stainless steel (SUS303)
O-ring: NBR
<Normal cable type>
Cable 0.2mm? 4-core cabtyre cable

<Flexible cable type>
0.2mm? 4-core flexible cabtyre cable

Weight (Note)

RY + M5 female screw type: Approx. 10g
M3 / M5 male screw type: Approx. 6g

Accessory

Connector: 1 pc.

Note: The weight with the cable removed.

e This product has been developed / produced for

industrial use only.

This product is suitable for indoor use only.

The operating altitude of this product is 2000m or less.

Use within the rated pressure range.

Do not apply pressure exceeding the pressure with-

standability value. The diaphragm will get damaged

and correct operation shall not be maintained.

Make sure that the power supply is OFF while wiring.

Take care that wrong wiring may burn or damage

the sensor.

Verify that the supply voltage variation is within

the rating. If excessive voltage is applied, the

product may get burnt or damaged.

If power is supplied from a commercial switching reg-

ulator, ensure that the frame ground (F.G.) terminal of

the power supply is connected to an actual ground.

e In case noise generating equipment (switching
regulator, inverter motor, etc.) is used in the vicin-
ity of this product, connect the frame ground (F.G.)
terminal of the equipment to an actual ground.

e The analogue output is not incorporated with

a short-circuit protection circuit. Do not directly

connect a power supply or a capacitive load.

Do not use during the initial transient time (approx.

50ms) after the power supply is switched ON.

Extension up to total 10m, or less, is possible

with 0.2mm?2, or more, cable.

e Make sure that stress by forcible bend or pulling

is not applied to the cable joint.

e Do not run the wires together with high-voltage

lines or power lines or put them in the same race-
way. This can cause malfunction due to induction.

e Avoid dust, dirt, and steam.
o Take care that the product does not come in contact with

water, oil, grease, or organic solvents such as thinner, etc.

e Do not insert wires, etc. into the pressure port.

The diaphragm will get damaged and correct op-
eration shall not be maintained.

Panasonic Industry Co., Ltd.
1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[Please visit our website for inquiries and about our sales network. |
Panasonic Industry Co., Ltd. 2024
April, 2024

PRINTED IN JAPAN



| & &

EhtEoHYAy R
DPH-100>') —X

Panasonic

ZOEWNE, N F Y=y 78R EBE W EFWEE
T, DHUNLE I TENET,

RO Z OB HHEL L BHAITRD .,
ELL fgii7e FiETITHAL 2 &0,

M, Z OBRHHEIROICHRE L TLIZE 0,

ﬂ#ﬁ%

oK‘ . EJJ= > b r—7DPC-100> ) — X
%f}uﬂfﬁﬁfimﬁ’z‘/ﬂ‘“‘y FTY, /=, H
ECHEMT D Z LR TT,

2 Fok

o AR AZEE T HHEIT, N
LU F AL TR T
TLEEN, ZOBROR O
FhAZE, TEREZ ISR
7ZEu,
WBR7e SV TREDAHT D &
E e~y ROENR— bRl 2%
TR O T OMSEB R CHMAHKEE L Ed, iz
RUBNRLL A TOHAE, V—2r DX )ik
FINEY =T =T EHBENTHER L T &N,

RALVF

EAR—F | AB LT CEIR) | Mo T Ly
R%$4 L 5mm 9.8N-mUT
M3E1 L 3 0.8N-mLLTF
M551 L mm 1.5N-mELF
BA-HAESBE

(EhtEoYA~y FEKGERR)

BENo. U— FBOE
) +V

* () AR CE) JJ%W -
BT W

¥ (HF)ov &P

REE ShERE I

GE1) : ABY— FREHFNo.4) 1. EHa> bO—3DPC-100
V)—RRESKTT. Eht YAy FEBEETH
AT 558F. B — FREBBLEL, A—T>
REEIZLTLESL,

(¥2) : EAE Y~y FZBATHERATSHE. 7FOJH
NIRRT 2HERE. AN VE—F 2 R50kQUEE
LTLEEEL,

g

o REMIT, AMARERAOREEELE LTIIFEAL
BLNTLESL,

o NMAREZBHME T HREEEICIL, OSHA, ANSI
BELVIECEDEEDAKRERICET HiEEE L

USRISISEET 2RAEECHEACIEEL,

B #RAE

o KM AIE S 2y e —FDPC-100> ) — X X
HEDLETHEATL2551%, MBOaxs ¥ &fE
ALTL &N,

o OXY 4 ((E) DRERD L FR

Oy #@EkL/N\—

@ BRZRL B 28R, BEN
BTN 2B LT B
X, ¥y
Y
#<3o%5
GE1) - —EEELEIRY2E BEALAVTEED, HEE
ERIETEER A,
RFEDI LY ZCN-EP2(5At v N LR R E
ALEEL,
<Ry HHES>

e-CON : 1473562-4
[A4aTL) bBZHRT 2T (#) 18]

HBEAt YAy F2EGETERT S
Ba

o [Nt~y REHIKCTHATLIHA. A MY v
7 8T — TV X%MILT<téw

o [/ — 7 V(¥ No.d) X Pk L, A —7
IRREIZ LT E &Y,

o HHFIID A L E— X U AT HEL &N,
oy =T IVIERBFICIEr — 7 L OEBUIZ L 0 E
EMETFLETOT, THEELEIV,

iHFNo. | ) — FiRDE ] E ﬁ:ﬁ
@E D = =y, <EBHKE>
® = FFOsEh DPH-100-[21-[E]-[4
= ---1:‘§HEJ:T:947’~2:IEJ:T:’5¢47’.S:EE@'fj
Ye0® ® 2 ov 2 50 RUHMBSHI L. M3 : Massha L. M5 : Msgstale
@ =] AR5 AL FE# JIL.R: m BT — I
S m -0 5—JLE2m. C5: y—T)LESm
® 1E A B 3
+ 0.1~ 0.5mm?(AWG2T ~ 20) ap R RES AT | EESAT | RESAT
Y ) & ~ S -
AL, BAREMEDN ¢ 1.0 ~ ¢ L.1I5mmTHH Z &, R R e
HEERFIR iE & F B | 100~ +100kPa [ O ~+1MPa [0 ~—101kPa
fit & 1| 500kPa 1.5MPa 500kPa
o EMOWEIL. RHBEWLTLIZELY, B A R K’ ER-FEEUERE
o EADIHFESIZ CHENLE, ELCEKRLT E B ® E|12~24VDC*10% v JILP-PI0%LLT
CFZE0Y, H B E R 15mALLT
‘\ 2 51 . HABE : 1 ~ 5V (ERRENFEEICT)
®r— ;w?fﬂmio IMT.LET, 7HogHh mﬁ4/t9/x$mm
mmik ﬂ € O & |3VE%FSER]  1V*25%FS.LIRA
P 4V+35%F.S LA
B #® * +0.5%F.S.LIA
— s ==
ﬁﬁ%sx&&®@ﬁﬁAu Cmosmnge | |emEmEr| GEL0CHEL BELLELCO
WD FETHALET, 1% I /B B % | 35 ~ 85%RH. {57785 : 35 ~ 85%RH
mE B % +2%F.S.LUA (+25°C & £ #)
*t 5 | A7 —2  PBT. EAK— M SUS303
L oY% :NBR
BT — L
@77 XL TR FEERLET <HREgT— T (7>
o 754 VP S 0.2mm? 45 EmM* v T4 1 ¥ 7 —J )L
12 e o Z =/ R%+M56H4 L2 4 7 : $510g
75%?12,511 B RO M3/M53s4a L5 1 7 - #16g
LTS an, T = i aR7 45 1@
o EFEHFIC, 7T AT GED) : BB, ¥—ILERVETY,

B EAGEOT 20X
INCTHEELTZE N,

o EMMMNP TR S
ICHEBELTCE#EL T
<TEEW,

FEEE

AERE, ER-FEREIEATT . RIELE
BE-AIREOARICIE, FRATEERA.

o ARBSLIX, TEERBEICHMT 2 B AU CHZS/ME
S8,

o ERITENFPFANTIHH L 72 &0,

o M ES B HEIZFIMLRNTL EEW,
HAY 7T AR L CTIER R B ENSG DL
<72 ET,

omﬁg%ﬁ\%f%%%ﬂotﬁﬁfﬁﬁof
<TIZEW,

o FBIANIZX, EMEBI WL S ERLEZ Z

LISV, BRREEEZAMLUET &, K
HOBERT2BZERARH Y 97,

o FAMMRAE L ET &, AHROHEEIC X A s O
RE720 F9,

o BFICHIRD AL v F v /L Xab—F % Tff
MR 285100, RTERO7L—LT T
K F.G)aF 28 LT EE,

o ARELFHR Y AT ELEINIC ) A R L T2 D
AL F o T Xal—F, A N"—FF—
X270 8) % THAOLEIE, MO T L —LT T
yF@nﬂﬁ%%M#&ﬂtr<%éw

e 71 7‘Hj73 SR PR RIS 2 250 LT
FHEHA, (}?a‘?)éb\ II AR A & R L7

wT<téw

o TEFLLARE I P R AR
i R YA

o r—7 VIER (X, 0.2mm2ll D —T iz TA
F10mETL LTLZE,

o F—TNEEH U T, 5lo0E D
EOARNVARMOLRNE I LTI EEN,

o S EMRLE S & DWATEARRC, [ —BARE D
FEA TR TS E SV, FHEIC K DREMEDR
K E720 £,

o KK, RV R EDEETTOMAIE#EET T
72EU,

o =7 EOFIERIK, .,
LAWK IICTHEEL TSN,

o JENR— FZE&2EE AN TL &0,
HA YT T LN L CIER REMENS S N7
<l Ed,

: ()50ms) 23k C 2

i =R/AVARVAR

INFTIZw D AV ANU—KAEH
T571-8506 ARMFIEHAFFIE1006E
https://industry.panasonic.com/
<FAT/\A REAMERED >
TEL : 0120-394-205
S5 - FHOIR~ 1285, 138~176F

(EB®B. F=RFH. SHREHZR<)
Panasonic Industry Co., Ltd. 2024

2024FAB%AT PRINTED IN JAPAN



